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ANSWERS / RUBRICS

Question No: 11

a ) Factorize 4z + 61 — 23> — 122y° (5 marks)

(#5) 4:cy2 — 6y3 — 2y2 — 12wy3 JSSF

. ZJ,)/
Rubric: Az 4+ 613 — 202 — 192203 -
4zy? + 6y — 2% — 12233 ry” + Oy Y LY ‘
= 2y2(2:r: + 3y — 1 — 6xy) (1 mark) = 2y2(2a: + 3y —1-— Ga;y) (1)
= 2y°(2z — 1 — 6zy + 3y) (1 mark) =2y°(2z — 1 —6zy+3y) (D
= 2212z — 1) — 3y(2z — 1)] (1 mark) — 221122 — 1) — 3uy(2z — 1 (41D
= 2y*(2z — 1) (1 — 3y) (2 marks) yIL( ) y( 2

= 2y%(2z — 1) (1 — 3y) (#2)
Solve the equation 8z — 13 = 4(x — 2) (5 marks)

(#5)-y/ Sy 8 — 13 = 4(x — 2) =il

. IJ/,)/
Rubrics:
8z — 13 = 4(x — 2) 8z — 13 = 4(z — 2) ‘
8r — 13 =4z — 8 (1 mark) 8r — 13 =4x — 8 1)
8z —4xr =13 — 8 (1 mark) 8&r —4r =13 — 8 (1)
4r =5 K .
"= (1 mark 4z =5 #D)
T =7 (2 marks) _ 5 .

L = 7 (#2)

Question No: 12

a ).The speed of a train is 52 km/h in 5 hours and 73 km/h in next 2 hours.Find the avrage speed of the train in 7 hours. (5 Marks)

(/5)-@/()’”/6/&/;1Jﬁu;fal/u(djg‘l/_%ﬁjé}f}g73 uﬁu%;ﬁwif&}f}gszutuﬁfégﬁﬂd%dhg


https://pecassessment.com/admin/pilot_items/pilot_view_combine/13788
https://pecassessment.com/admin/pilot_items/pilot_view_combine/14630

Distance covered = speed X Time

Distance covered in 5 hours =52 x5=260 km (1 Mark)
Distance covered in 2 hours = 73 x2=146 km (1 Mark)
Total distance covered =260 +146 = 406 km (0.5 Mark)
Total time = 5+2=Thours (0.5 Mark)

Total dis tan ce covered
total time taken

Average speed =

,L‘Gw/'/&;«};‘ X =3

dlins S U\ =52 X 5 2 K =260 2 K(#1)
oo S U =T3 X 2 2 E=146 45 1)
Lob Fos S =146+260=406 4 #(£0.5)

=5 F=5+42=725(40.5)
/BJL/M:.L-”UM/}J/::UJ

G bosl= ZE%(/1)

Average speed= 406 (1 Mark)

7
(1Mark)

Average speed = 58km/h besi=58 2803 2 8 #1)

Construct an equilateral triangle ABC of side length 4cm. (5 Marks)

(A5)-c i G 43USE° L L S ABC AL Lo Sole

For drawing a line segment@ = 4cm. (1 Mark) ) . )
_/,gA—B = dems =2 LI(£1)
For drawing two arcs of radius 4cm from pointAand B.. (1 _/.:guf}»d/u’b/}f&?4¢ B ALLE?(/l)

Mark) -4 lbe Busl ALB(2)

For joining with the points A and B. (2 Marks) /J_/'/J"’JMJ}J}‘L/J/(&U@‘(/I)
For completing and correct labeling the triangle. (1 Mark) I '

Question No: 13

a ) Abus starts travelling at 6 : 15 a.m. and stops at 9:50 p.m. Find the journey time. (8 Marks)

(/7}8)-@/'/(}”::!/;)K}/-‘L&/J/ﬁ:SOc«lu;lLL&/C:/:’}’“/,:6 . 1561/5{1

Departure time =6:15a.m =6:15 (1 Mark) &5!(‘,651:611564:6315 (/721)

Arrivaltime  =9:50 p.m=21:50 1Mark “ o ’
P . ( ) <A T=9:50e,=21:50 (1)

Hours Minutes g

Arrivaltime = 21 50 (1 Mark) “f/
Departuretime= -6 15 (1 Mark) =L T=21 5001
:35(&’./'5/=— §) 15(/1)

Journeytime = 15 hours 35 minutes (2 Marks) P .
Uk =155 352(#2)

Uk =152 355:4(#2)
If the radius and height of a cylinder are 5cm and 12cm respectively, then find the volume of the cylinder. (7 marks)

Ao/ o F i T 2 55 120 2 5 2 S e s i 11

Sak=h=12 2 & Ut =r=5 2 F (#1)

A¢ b =mr*h(# D)

g (3. 14) x (5)% % (12) (#2.5)

A6 =942 2 5 A(F2.5)

Journey time =15 hours 35 minutes (2 Marks)

Radius=5cm, Height=12cm (1 mark)
Volume of a cylinder=nr2h (1 mark)
Volume of a cylinder= (3. 14) x (5)% x (12) (2.5 marks)

Volume of a cylinder=942¢m? (2.5 marks)


https://pecassessment.com/admin/pilot_items/pilot_view_combine/17860






